Tables of Plethysms for the Non-compact Sp(8, R) Group
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<s (1) > {22 <2;(2%9) > + < 2;(41%) > + < 2;(4%) > + < 2;(51) >
+ < 2;(5%) > + 2 < 2;(62) > + < 2;(6%) > + < 2;(71) >
+ <2;(73) > + < 2;(7%) > + <2(8) > + 2 < 2;(81%) >
+ < 2;(82) > + 3 < 2;(84) > + 2 < 2;(8%) > +2<2;(91) >
+ <2;(93) > +2<2;(95) > + <2;(101%) > +4<2(102) >
+ < 2;(104) > +3<2;(106)> +3<2;(111)> +3<2;(113)>
+2<2;(115) > +2<2;(12)> +3<2(121%) > +2<2(122)>
+5<2;(124) > +4<2;(131)> +3<2;(133)> + <2;(14)>
+2<2;(141%) > +7<2;(142)> +5<2;(151)> +3<2;(16) >

< s (1) > {217} < 2;(21%) + < 2;(41%) > + <2;(42) > + <2;(51) >
+ <2;(53) > +2<2;(61%) >+ <2;(62) > + 2 < 2;(64) >
+2<2;(71) > + < 2;(73) > + < 2;(75) > + 2 < 2;(81%) >
+3<2;(82) > +2<2;(84) > + 2<2;(86) > +3<2;091) >
+3<2;(93) > +2<2;(95) > +2<2;097) > +<2(10)>
+4<2(101%) > +3<2(102)> +4<2;(104)> +2<2;(106)>
+4<2;(111) > +4<2,(113)> 4+4<2;(115)> + <2(12)>
+4<2;(121%) > +6<2;(122)> +4<2;(124)> +6<2;(131) >
+6<2;(133) > +2<2;(14)> +6<2;(141%) > +6<2;(142) >
+8<2(151) > +2<2;(16) >

<s (D) >e{1't  <2;1Y> + < 2;(41%) > + < 2;(4%) > + < 2;(61%) >
+ < 2;(62) > + < 2;(6%) > + <2;(73) > + 2 < 2;(81%) >
+ <2;(84) > + < 2;(8%) > + < 2;091) > + <2;(93) >
+ < 2;(95) > + <2;(101%) > +2<2(102)> + <2;(104) >
+2<2;(106)> 4+ <2;(111)> + <2;(113)>  +3<2(121?) >
+ <2;(122) > +3<2;(124)> +2<2;(131)> +2<2;(133)>
+2<2;(141%) > +3<2(142)> +2<2;(161)> + <2;(16) >




